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W/C(n | S/C P/C(%) V(%) (mm) (%) (N/mm? (N/mm?)
0.1 [0] 283 0.0 8.3 40.5
0.2 o 0.5 241 0.1 11.1 60.2
0.3 1 202 0.0 11.1 45.2
0.4 196 0.0 9.6 46.6
No.5 [0] 265 0.4 14.0 38.0
No.6 0.1 260 05 13.1 44.2
No.7 5 PAE1 0.3 250 0.0 8.2 46.9
No.8 05 227 0.0 10.8 44.8
No.9 0] 1 217 0.4 10.1 39.7
0.10 [0] 282 0.0 10.5 334
0.11 0.5 238 0.1 11.3 33.3
0.12 PAEL 1 191 0.4 153 37.6
0.13 10 216 0.0 109 34.7
0.14 [0] 278 0.0 14.3 30.6
0.15 05 253 0.1 119 40.7
No.16 PAE2 1 211 1.1 12.8 38.2
No.17 216 0.9 119 37.3
No.18 [0] 222 0.1 8.2 523
0.19 0 0.1 207 1.4 10.1 52.6
0.20 0.5 172 1.5 9.7 48.2
0.21 1 147 1.4 10.3 50.5
0.22 45 [0] 229 0.5 9.7 40.6
0.23 0.1 208 0.5 11.1 47.3
0.24 5 PAE1 0.3 179 0.5 10.1 45.9
0.25 15 0.5 178 0.8 10.0 41.2
0.26 1 152 0.9 10.1 43.1
No.27 [0] 229 0.0 10.6 39.0
No.28 PAE1 05 175 0.3 10.1 376
No.29 10 1 155 0.0 13.1 42.8
No.30 [0] 242 0.0 11.3 39.5
0.31 PAE2 05 183 0.2 10.1 38.0
0.32 1 149 1.7 11.8 42.5
0.33 [0] [0] 177 35 9.5 525
0.34 [0] 186 1.6 12.0 43.2
0.35 05 152 1.7 10.4 36.5
0.36 PAE1 i 142 39 9.8 29.5
0.37 1 136 6.1 10.4 35.5
No.38 25 10 128 3.7 9.3 28.8
No.39 [0] 168 0.7 12.0 42.7
No.40 05 152 28 9.6 36.1
No.41 PAE2 i 142 7.8 10.2 27.0
No.42 1 139 50 10.4 31.2
No.43 118 6.1 8.8 24.5
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